Xt = 1307 + 362 AFEoE o, SR LR o] Fof%

ke 1519
O 4x+13 @4x ® 4x-13
@ 2x2-13 ® 2x2+5

B

x* = 13x% + 36= (x2 - 9)(x% - 4)

= (x+3)(x—3)(x+2)(x~2)

- (2R Q55 )
=x+3+x—-3+x+2+x—-2=4x




oL xt - 81yt & Q1R g Aotk o] wf, [ qbo] agre
AA4=2] & 7-5HH?

-8yt =2+ P+ - b
@ 13 @)15 ® 18 @ 20 ® 24

xt =81yt = (a2 + 9y%) (% — 9y?)
= (x% 4+ 9y?)(x + 3y)(x — 3y)
S 9434+3=15




AL

il m o] 2 4 gle

9]

R I L I

3.

@ 2 ® 4 @)6 ® 8

D1

~—

~— — —




oA ¥ - 4x - 12 =0 4 %« 27} o R A 42 4 2ax +

X2 —4x-12 =02 U5FEHHH (x-6)(x+2) =0°]h.
x=6,-2

S5O 2 27 a2+ 2ax+a+2=0 92 Zo|BE
(-2)?-da+a+2=0

La=2




@10 @-10 o3 @ -3

(x=2)(x+5)=0
X +3x-10=0




6. x(x-7)=189FZF &I x*>-—ax-6a=02 LM, a9

°9

®-4 @-=2 o0 @n ® 4




